Calcular Porcientos (F)

Calcule el porciento o valor que se pide.

- ¢Qué porciento de 1.483,00 €
es 1.483,00 €7

. ¢Qué porciento de 1.117,00 €
es 1.117,00 €?

. ¢.Qué porciento de 8.548,00 €
es 8.548,00 €?

- ¢Qué porciento de 3.430,00 €
es 2.572,50 €?

- ¢Qué porciento de 1.816,00 €
es 1.816,00 €7

10.

;Qué porciento de 1.388,00 €
es 1.388,00 €7

;Qué porciento de 1.961,00 €
es 1.470,75 €?

;Qué porciento de 2.717,00 €
es 2.037,75 €7

;Qué porciento de 1.862,00 €
es 465,50 €7

;Qué porciento de 7.306,00 €
es 7.306,00 €7
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Calcular Porcientos (F) Respuestas

Calcule el porciento o valor que se pide.

- ¢Qué porciento de 1.483,00 €
es 1.483,00 €7
100%

. ¢Qué porciento de 1.117,00 €
es 1.117,00 €?
100%

. ¢.Qué porciento de 8.548,00 €
es 8.548,00 €?
100%

- ¢Qué porciento de 3.430,00 €
es 2.572,50 €?
75%

- ¢Qué porciento de 1.816,00 €
es 1.816,00 €7
100%

10.

;Qué porciento de 1.388,00 €
es 1.388,00 €7
100%

;Qué porciento de 1.961,00 €
es 1.470,75 €?
75%

;Qué porciento de 2.717,00 €
es 2.037,75 €7
75%

;Qué porciento de 1.862,00 €
es 465,50 €7
25%

;Qué porciento de 7.306,00 €
es 7.306,00 €7
100%

MatesLibres.Com




